SRS 2EHS B
BZRH Y

SHEBABH
SERASEIAN(SEHA)

g Al

A

S HB B (SH) - NRAMY - BAS il
BZRH 448,034 435,791
Dl 442,034
= 6,000
RS R R s 448,034 435,791
Jl 442,034
= 6,000
A ELEAH(FE ML) 448,034 435,791
Il 442,034
= 6,000
FOXJAANY EBIF & DBXIA 28,447 26,700
J| 28,447
101 @1 21| 15,510 14,620
J| 15,510
04 JI2ZtHI2E2XNSEE 15,510 14,620
OFXNAANY o2l
8,120& * 191 = 336.94< 12,845
Dl 12,845
OFUNAANY 2 4AEE
12,844 ,152& * 0.1241 1,594
Jl 1,594
OEAZNH s¢2 12,844,152 * 1/12 1,071
Dl 1,071
201 LBt | 6,700 6,000
Dl 6,700
01 At 22l ] 6,700 6,000
OfgerE==4] 4,500
OFUXIAMNSEII L DB A2
4,500,000& * 14 4,500
J| 4,500
Ol2gdl] 2,200
O FOIXY & DBXHEAIY SEH|
7,000& * 621 x 52.38L 2,200
Dl 2,200
202 04t 3,300 3,300
Dl 3,300
01 2L Y| 3,300 3,300
OJIZXAN L MSF=TAEHEH 0l
20,000& = 392! x 55 3,300
Jl 3,300
301 LBt A= 2,937 2,780
Dl 2,937
10 HALAHI 2 A2 2,937 2,780
OFUXN ALY =839 =HAI AH A
7,000& * 409! % 3.573] 1,000
Dl 1,000
OFUXSANY SXAS 1,937,000& =* 1,937
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SN HH-S(BN) - MBAY - B il HlnE2
| 1,937
AN 342,250 334,405 7,845
| 342,250
gIztol & 123,250 128,350 25,100
| 123,250
QI2tZ & Ex 123,250 128,350 25,100
OFUXN AN (HEXH)
850,000& = 145l CH 123,250
| 123,250
QItXt2 01 & 219,000 178,555 40,445
| 219,000
QI =2x 219,000 178,555 40,445
OFUXN AL (LX)
219,000,000 * 14l 219,000
| 219,000
a2 XY 22 30,299 30,648 A 349
| 30,299
jeilala]] 12,344 10,834 1,510
J| 12,344
04 JIZHHZ2XRHEES 12,344 10,834 1,510
appoipg o2
8,120& = 121 » 207.73<Y 7,919
| 7,919
OadpooLY 4HLEE2
7,919,000& = 0.1255 994
| 994
Oz Mgl 22
38,120& = 82! * 6.669 2,034
| 2,034
Ox=#HIAMYI=HAURY 4UHEEE
034,000& = 0.1241 253
| 253
O4+¥PATERH o2
38,120& = 8¢l = 3.351 1,022
| 1,022
OxBHIIATZZTMAHURY AHEE =
1,022,000& = 0.119 122
| 122
2 et A | 13,635 11,494 2,141
J| 13,635
01 At 2t 2l 7,635 7,000 635
Olger=2tl] 3,000
O4HTAYRET L8|
3,000,000& * 14l 3,000
| 3,000
Ol=&Hl] 4,635




SN BHRHD
B 2BHBH
Sl ARHLSHE N (FHA) (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Oa==dacXgael Sl
7,000& * 9@l = 73.57L 4,635
J| 4,635
02 2324l 6,000 4,494 1,506
O[Xrg - detdl] 6,000
O==HRA2CISE FXIH
6,000,000& * 14 6,000
J| 6,000
202 o4 Hl 4,320 4,320 0
J| 4,320
01 = LH 4 Hi 4,320 4,320 0
F=HIAA =Z0H| 20,000& = 321 = 72¢ 4,320
J| 4,320
egE2AcHE X 41,038 41,038 0
J| 41,038
207 A O H] 41,038 41,038 0
Jl| 41,038
01 289 41,038 41,038 0
OIS 2CI2EA AEAHE 0lHE It
40,000,000& * 14! 40,000
J| 40,000
Oxgsgac AZAE Z2LHE
1,038,000& = 14l 1,038
J| 1,038
ol g1yl 6,000 3,000 3,000
801 Gilbl bl 6,000 3,000 3,000
01 olldldl 6,000 3,000 3,000
oolglsl 6,000,000& * 14! 6,000




